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WEARING COURSE

PAVEMENT

BASE COURSE

SUB-BASE AND — )10 }71
b .
C A
(),

LOWER SUB-BASE

CAPPING LAYER
- 150mm MIN

CONSTRUCTION
LAYER - 150mm MIN SN,

KA AL AL

SUBGRADE - 300

100mm@ CLASS 1000 PVC
AGRICULTURAL PIPE IN FILTER SOCK
IN 20mm SIZE NO FINES CONCRETE

SUBSURFACE DRAIN AT
INTERSECTING PAVEMENTS

TEMPORARY CUL DE
SAC 200mm COMPACTED
DEPTH 20mm NOM. SIZE
FCR COMPACTED TO
98% MODIFIED DRY
DENSITY

REFER TO SD1-2
FOR KERB TYPE
DETAILS

100mm@ CLASS 1000
| PERFORATED UPVC
AGRICULTURAL PIPE
PROPOSED ) - WITH FILTER SOCK
PAVEMENT AS T VAR
SPECIFIED FUTURE

PAVEMENT
CRLLLLLLLLIKLIKLAK
SUBGRADE — = //>\\//>\\//>\\//>\\//>\\//>\\//>\/\//>/§<//>\\/ SUBGRADE LEVEL

84 X

20mm SIZE
SCREENING

TEMPORARY EDGE STRIP

NOTES:

1.  PAVEMENT PERMEABLE SUB-BASE TO EXTEND OVER AGRICULTURAL DRAINS .

2. THICKNESS OF PERMEABLE SUB-BASE AND SHOULDER AS PER DRAWINGS.

3. MINIMUM GRADE OF SUBSURFACE DRAINS TO BE 1 IN 300.

4. WHERE AGRICULTURAL DRAINS TO BE PROVIDED UNDER KERB, NO FINES CONCRETE TO BE
USED AS BACKFILL.

5. TEMPORARY SUBSURFACE DRAIN & KERB TO BE REMOVED WHEN FUTURE PAVEMENT IS BEING
CONSTRUCTED.

AMENDMENTS APPROVAL |  DATE CADFILE: SD7-2.DWG
DELETED AND EDITED NOTES, ADDED 3% 22-04-2007| R A
MINOR DRAFTING MODIFICATIONS 19-06-2007 SUBSURFACE D INAGE
MINOR DRAFTING MODIFICATIONS 12-01-2010
UPDATED TO REFLECT CURRENT STANDARDS M.BRIGANDI | 21-05-24

DRAWN DATE: FEB 2024

REVISION: D

ALJ 45 PRINCES HIGHWAY ~ TEL: 1300 023 411 DRAWING NO.:

wyndham WERRIBEE, VIC 3030 wyndham.vic.gov.au
city. coast. county v 9 SD7'2

GENERAL NOTES: -DRAWINGS ARE NOT TO SCALE.
-ALL MEASUREMENTS ARE IN MILLIMETERS UNLESS OTHERWISE STATED.
-FOR UP TO DATE DRAWINGS PLEASE CHECK WYNDHAM CITY COUNCIL WEBSITE.
-ALL STANDARD DRAWINGS TO BE USED IN CONJUNCTION WITH SD1-1 (STANDARD DRAWINGS CONDITIONS OF USE).

3
N
o
N
3
=
o]
q
[®
g
3
o
~|
[m]
(2]
D
[%2]
£
s
@©
©
[m)
hel
o
(0]
el
C
©
s
(2]
O
o
=
[%2]
[0]
Q
C
[
5
8
[
24
w
O
[
2
o)
(%3]
w
14
4
o)
7]
[&]
Ko
O]
o
o
c
‘0
[
[m]
£
=
[}
[
£
[
L
w
[2]
Q
Q
>
[
v
(o)
£
=
5
(5]
o
=
ulf
=
O
£
[0
|
£
s
(]
s
[m)






